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Find the quotient. 
 

4

10
  ÷  

5

8
 = 

 

  Find the quotient. 
 

12  ÷  
5

6
 = 

 

A dog rolls over 25 times in 
2 minutes.  How many 

times can the dog roll over 
in 6 minutes? 

 

 

  There are 54 people at the 
party, 18 of them are wearing 
red.  What percent of people 

are not wearing red? 

What is the value of 
6x2 + 17 when x = 8? 

  List 3 values that would 
make this inequality true. 

 

9 - n  ≥  4 
 

____, ____, ____ 
Compare the numbers with >, <, =. 

 
- 3.5  ______ 2.8 

 
    7.4 ______ - 9 

 
 

 What is the absolute value 
of -3.4? 

Order from least to greatest 
 
5

8
    

3

7
    

9

10
 

  Draw a number line, and place 
the following numbers on it in 

the correct order. 
 

-3, 2.3, -1, 1.2 
 
 
 

Draw a number line, and place 
the following numbers on it in 

the correct order. 
 

1

2
 , 1.5, -0.5, -1.5 

 
 

 

 
 

 Compare the numbers with >, <, =. 
 

−
3

4
  ______ - 0.75 

 
4.5 ______ - 5.4 

If point A is located at (2,7) on 
a coordinate plane, and point B 
is located at (-4, 7), what is the 

distance between the two 
points? 

 
 
 

If point A is located at (-3, -1), 
and there are 10 points 

between A and B, what could 
be the possible coordinates for 

point B? 

Martha places a triangle at 
(5,2) on a coordinate plane.  If 
she wants to place a square 7 
points away, what might be the 

coordinates of the square? 

There is a point on a 
coordinate plane at (5,0).  

There is another point at (-3,0).  
What is the distance between 

these two points? 

Plot the following points and find 
the area of the figure. 

(3,2); (-3,2); (-3,-2); (3,-2) 

 

Plot the following points to create a 
rectangle. Find the missing vertex. 

(1,5); (-1,5); (-1,-5); ? 

 

Plot the following points and find 
the area of the figure. 

(2,4); (-2,4); (-2,-4); (2,-4) 

 

Plot the following points to create a 
rectangle. Find the missing vertex. 

(5,2); (-5,2); (-5,-2); ? 

 


